MA 123 — Elem. Calculus Spring 2012 Name: : Sec.:
EXAM 4 5/3/2012 ame: ec.:

Do not remove this answer page — you will turn in the entire exam. You have two hours to do this
exam. No books or notes may be used. You may use a graphing calculator during the exam, but NO
calculator with a Computer Algebra System (CAS) or a QWERTY keyboard is permitted. Absolutely
no cell phone use during the exam is allowed.

The exam consists of multiple choice questions. Record your answers on this page. For each multiple
choice question, you will need to fill in the box corresponding to the correct answer. For example, if (b)

is correct, you must write
(2] B [<] [d] [e]

Do not circle answers on this page, but please circle the letter of each correct response in the body of
the exam. It is your responsibility to make it CLEAR which response has been chosen. You will not get
credit unless the correct answer has been marked on both this page and in the body of the exam.

GOOD LUCK!

- (2] [B] [<] B [e] 1. [a] B [<] [d] [e]
- (2] B [<] [d] [¢] 12. [a] Jl [<] [d] [¢]
- [a] [o] [<] BN [e] 13. [a] B [<] [a] [e]
(2] @ [<] [d] [¢] 14 [a] [b] I [d] [¢]
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=

5. Bl [b] [<] [d] [¢] 15. [a] [b] [<] [d] (M
o. Bl [b] [c] [d] [e] 16. [a] Bl [<] [d] [e]
anioial o ol loialo
8. [a] [&] B [d] [<] 18. [l [b] [<] [d] [e]
0. [a] [b] [<] B [e] 19. [a] [b] [<] KA [e]
10. [a] B [<] [d] [e] 20. [a] [b] [<] [ [e]
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Please make sure to list the correct section number on the front page of your exam. In case you forgot
your section number, consult the following table. Your section number is determined by your
recitation time and location.
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004 Q. Liang R 9:30 am - 10:45 am, NURS 502A
005 Q. Liang T11:00 am - 12:15 pm, CB 243
006 Q. Liang R 11:00 am - 12:15 pm, CB 243
007 D. Corral T 2:00 pm - 3:15 pm, DH 301
008 D. Corral R 2:00 pm - 3:15 pm, DH 301
009 D. Corral T 11:00 am - 12:15 pm, DH 353
010 A. Barra R 11:00 am - 12:15 pm, DH 353
011 A. Barra T12:30 pm - 1:45 pm, MMRB 243
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013 ' ] Jung T 11:00 am - 12:15 pm, TPC 113
014 J. Jung R 11:00 am - 12:15 pm, TPC 113
015 F. Camacho T12:30 pm - 1:45 pm, CB 219
016 J. Jung R 12:30 pm - 1:45 pm, CB 219
017 F. Camacho T 2:00 pm - 3:15 pm, FB B8
018 F. Camacho R 2:00 pm - 3:15 pm, TPC 212
019 S. Hamilton T 3:30 pm - 4:45 pm, CP 345
020 S. Hamilton R 3:30 pm - 4:45 pm, BE 301
021 S. Hamilton T 2:00 pm - 3:15 pm, CB 340
022 J. Constable R 2:00 pm - 3:15 pm, CB 345
023 J. Constable T 9:30 am - 10:45 am, L 201
024 J. Constable R 9:30 am - 10:45 am, L 201
025 M. Shaw MWEF 9:00 am - 9:50 am, CB 110




Multiple Choice Questions
Show all your work on the page where the question appears.
Clearly mark your answer both on the cover page on this exam
and in the corresponding questions that follow.

1. Which of the following is the correct expression for the derivative, g'(7)?

Possibilities:
9(7+h) +g(7)
@ £
9(7+h) — g(7)
) £
9(7+h)-9(7)
(©) ;lg% h
(d) lim ? 97 h})b 9(7)
. g(T+h)+4g(7)
(e) ;13“% h
2. Determine the derivative with respect to z of y = 5’ +4 - 2
Y, 9 + 4
s { — 73
Possibilities: 3 = %X + Lh/ =
(@) eld+4 i e & (+ g

= (15x"+4)

(c) In (53 + 4x)
(d) (1522 4 4)e5= +4=-1
(e) 65m3+4m

3. Determine the equation of the line that is tangent to the curve y = /22 — 75 at z = 10.

] o) = 22X a0
Possibilities: ‘/O,La_g : ;'7 - Q\W = J ] IOQ»‘7 o
(@ y=2(x+10)+5 <X =0

(b) y=4(z —10)+5 [ O 2

.

o

2 - ==

() y=

2 _ 75 . ﬁ
d) y=2(zx—10)+5 fﬂ’,‘li ' 10°-9¢ = )/0?5'7:; G

(e) y=4(z—5)+10 T-(ine O% — G- ;Z"(—k - /O)

77; = -0 £ 5



4. A right triangle has base z feet and height 3z feet, and the base is increasing at a rate of 3 feet per
minute. Determine the rate at which the area of the triangle is increasing, when the base is 6 feet

L) 3]
Possibilities: ()() (
. /9 *
(a) | 18 feet per minute. ; X 5 X
d;f“/eeffzi@m > ‘ 0()(
c) 108 feet per minute. 7 d X
(d) 27 feet per minute. o{
= Ty
(e) There is not enough information to solve this problem. - 0(,\(—

S0 ;(Té: ?"3'5:79

5. Determine the indefinite integral

/ (3¢5—7x2+?> dz
17}(;4( L)t

5
Possibiﬁc&es.-——\ ZS‘)(QQ
6 3 &
W(?/Z&)x +29n|z| + C _ s 6* 3_2/\/ - gqﬁ[)(/_gc

(b) 1522 — 14z + C - _6/~X
© (1/2)z8 — (7/3)z® + C ¢
d) (3/5)z* — (7/2)z — 29z~ 2+ C /L X - 3 )( + &9 ﬂw //V/ +C

(e) (3/5)x® — (7/2)x* +291n|z| + C

6. Determine the integral

(3t +18)% dt
° T
Possibilities: ‘ = p{f/; =, U -
(a) —é—((3x+18)4 ) 2>(+ sL/ g’\"('/g/
(b) z° U =
o S Lo I:z

@ = <(3x +18)

(d) Zx‘* | ,,L( 3y+g) - lél
() Z<(3x+18)4—184) _ /’“ﬁ/?)«f/f)b/ (5 ]

o




7. Compute the requested derivative: 4 X
d [* 7
— | b’ gt — ,7 X e
dx )
Possibilities: ,/ y
(a) 42287 -1

(b) ea:7 — e—128

() e ﬂ
!e! 422%¢%" 4 49227
8. Determine the definite integral v {an
_ 8 . Avea Of A -
/ lt|dt = 2
PR 2 g,
(HINT: Interpret this integral in terms of an area) — 4 / A ) t 2
/L Ld
Possibilities: = ?” E % t > /6

oo BN = 2+ 6709
-2 ¢

(d) 12
(e) 16

9. A rock is thrown down from a cliff with an initial speed of 10 feet per second. The speed of the
rock after ¢ seconds is s(t) = 32¢ 4 10 . If the object lands after 3 seconds, determine the height

of the cliff. -
et of U1 P+ e
Possibilities: ; Ao fhe 75
(a) The cliff is 114 feet high. 0&&
(b) The cliff is 10 feet high. — j; 32 f +/0

(¢) The cliff is 144 feet high. 22 ;3 | /
= %o

e ere is not enough information to solve this problem. — { 6 é 1_(, [0 t / o

_ {2073 = Y



10. Determine the largest interval or collection of intervals on which
f(z) = —2® + 3022 — 288z + 900 is concave up.

pedl $7) 20

Possibilities: ,P / /{ )//:; b + b0 = -—{6( —-/0)
® 00 xo= (0

cy (=09, 8) and (12, 0o)

(d) f(z)is never concanve up. y - -

(@ (8,12) 4t

11. The area under the curve y = 5% from z = 0 to £ = 2 is estimated by the sum of the areas of 4
rectangles of equal width and the heights of the rectangles are determined by the right endpoint.
Deteremine the area of the first rectangle.

Possibilities:

(@ v5

© 2 | P /
2 | A 72

(d) 2v5 0

. |
7 ol T
@ 7 wdth= 2, /*:Vw |

12. Determine the exact area under the curve y = t> + 6 fromt = 0 to ¢t = 3.
A

Possibilities: \I;/\/\/ Fogral ‘
(@) 21 M T ]
(T A |
wen 00 |
(e) 3 ;[;% _(_{LL/O — — k>

= %.27*— §:2 =



13. Evaluate the sum
15+20+25+30+ ...+ 750+ 755

5[ Gete57 -+ /51 ¥

a) 57360 ‘ )

o I TP S e

B ;é lati .. ] s

(e) 57380

\!

Possibilities:

14. A rectangle is to be constructed with 5 vertical partitions (i.e., 6 vertical walls and 2 horizontal
walls) as in the figure below. The rectangle is to be constructed with 400 feet of material. Let

z denote the length of the horizontal wall and y the length of the vertical wall. Determine the
dimensions that will enclose the largest area.

a4 ed( : Moncvniet
7;32" xry
Cauéfra(W‘L o= & *@'“

— 200= X -Ezg« g D3 2
o 00—y ==> A= xy= Y=Y
- = O
Possibilities: : A / - 0200 - 6# vy,
(@) =100 feet and y =40 feet =) J = —’5/‘
(b) z =150 feet and y =150 feet (00 z
W = A00- F7
here is not enough information to solve this problem.

= /00

(e) None. Itis possible to enclose an arbitrarily large area.




15. Suppose g'(t) =t* 4- 10t + 9. Determine the largest interval on which g(t) is decreasing.

g(ﬁ Vo e g//f) Z0

Possibilities:

@) (5,00) =t + oy t+/)=0
(b) g(t) is never decreasing. | ; . iy _ C?

(© (~9,00) = = 8

d)

16. Suppose f(z) = z°, g(4) = 6 and ¢'(4) = 7. Determine the instantaneous rate of change of
hz) = {2 at ¢ = 4. /

o(@) .&(‘9)9@/, Xﬁlug///}‘//

‘ /
Possibilities: L’ / )() -

< iE
(a) 16/9 ‘ J [;)/O/)
) gl = ey
@iz y g MZ? 14 2/'7}/';
(e) 8/7 _ W = T (€
h(4)= 2 P R

17. The graph of y = g(z) is shown (solid), as well as the tangent line to the graph (dotted) at z = 1.

Determine ¢ '(1). < :
’ /U]: ;/%Q fovﬂ«fﬁl /("Ue‘y

Possibilities: 3
Aire
(@ -1 ' -
R
i/3 =7 . - sz S
C - —e—— So
@) 3 - -7 N\ (L)
(e) There is not enough information to solve this problem. \‘\ -
(3,0) \\\ z
A




18. Suppose il_{)% g(z) = 12. Determine the limit
lim (a: -9 12 )
=3\ z—3 g(z)
(t)f? _%]
Possibilities: = > [ J

@) (2

® 17 244[()(+Z)_, o = 2+¢% 73

(c) 29

(d) 41 — ?

(e) The limit is infinite or the limit does not exist.

19. Determine the maximum value of f(z) on the interval [—2, 5], where

f(z) = 2 +8, for —2<z<3
z)= -4z +29, for3<z <5 #2(‘\/43 ):O
C"HLICc«p o(llt§ =) (p )= f o g Lk €s
Possibilities: V - X/O ) 1[\ Z{// p/Vé\ o3
(a) 37 =

(b) 33 /UM,Q Cn/’/'(caﬂ //)a/«f474 2o omff
Lr=2) =2 he=12 -P/ﬁ)—“’—'%;w”?
@9 Loy 648§ Nr) = -45+2T= 9

20. A train leaves station A at 8:00 am and arrives at station B at 11:00 am. The train leaves station
B at 11:00 am and arrives at station C at 5:00 pm. The average velocity from station A to station
B was 78 miles per hour. The average velocity from station B to station C was 52 miles per hour.
Determine the distance between station A and station C.

Possibilities: V1510~ /}C = Pt AL+ mel B

(a) 585 miles /””( Time + W TM

(b) 541 miles — g % _{_, ’7,;2 ({ é/é/{m// "

c) 554 mile h hr
o
€) There is not enough information to answer this question.




